

A Family of Unbiased Estimators of Population Mean Using an Auxiliary Variable

Shashi Bhushan and Praveen Kumar Misra

*Department of Mathematics and Statistics,
Dr. Shakuntala Misra National Rehabilitation University, India*

Abstract

In the present study, we have proposed a family of estimators given by Khoshnevisan et al (2007) for population mean of the study variable using information on an auxiliary variable under the jack – knife technique. Its unbiasedness and mean squared error (MSE) are derived. The comparison of the proposed unbiased sampling strategy with the usual unbiased estimator and other estimators available in the literature are carried out. The results obtained are illustrated numerically using an empirical sample considered in the literature.

Keywords: Family of estimators, auxiliary information, bias, MSE.

1. INTRODUCTION

The use of auxiliary information to increase the precision of estimators has been discussed extensively by various authors. The ratio estimator among the most commonly used estimator of the population mean or total of some variable of interest of a finite population with the help of an auxiliary variable when the correlation coefficient between the two variables is positive. In case of negative correlation, product estimator is used. These estimators are more efficient i.e. has smaller variance than the usual estimator of the population mean based on the sample mean of a simple random sample.

In this paper, a class of estimators given by Khoshnevisan et al (2007) is reconsidered by using the generalized jack – knife statistic of Gray and Schucany in section 2. In a finite population, let y denote the variable whose population mean \bar{Y} is to be estimated by using information of the auxiliary variable x . Assuming that the

population mean \bar{X} and of the auxiliary variable are known the following class of estimators of the population mean were given by Khoshnevisan et al (2007)

$$\bar{y}_\alpha = \bar{y} \left[\frac{a\bar{X} + b}{\alpha(a\bar{x} + b) + (1-\alpha)(a\bar{X} + b)} \right]^g \quad (1)$$

where \bar{y} denotes the sample mean of the variable of interest y ; \bar{x}, \bar{X} respectively denote the sample and the population means of the variables x ; a and b are real numbers or the functions of the known parameters of the auxiliary variable.

1.1 Definitions and results

Assuming that the population mean \bar{X} of the auxiliary variables is known. Let \bar{y}, \bar{x} respectively denote the sample means of the variables y, x based on a simple random sample without replacement (SRSWOR) of size n drawn from the population.

Define:

$$e_0 = \frac{\bar{y} - \bar{Y}}{\bar{Y}}, e_1 = \frac{\bar{x} - \bar{X}}{\bar{X}}, \text{ Then } E(e_0) = E(e_1) = 0, E(e_0^2) = \frac{f}{n} C_y^2, E(e_1^2) = \frac{f}{n} C_x^2, E(e_0 e_1) = \frac{f}{n} \rho_{yx} C_y C_x$$

where

$$f = \frac{N-n}{N}, C_y^2 = \frac{S_y^2}{\bar{Y}^2}, C_x^2 = \frac{S_x^2}{\bar{X}^2}, S_y^2 = (N-1)^{-1} \sum_{i=1}^N (Y_i - \bar{Y})^2,$$

$$\rho_{yx} = \frac{S_{yx}}{\sqrt{S_y^2} \sqrt{S_x^2}} S_{yx} = (N-1)^{-1} \sum_{i=1}^N (Y_i - \bar{Y})(X_i - \bar{X})$$

Also, ρ_{yx} denote the correlation coefficient between Y and X , respectively and C_y^2, C_x^2 and denote the coefficient of variation of Y, X and respectively.

1.2 Properties of the estimator \bar{y}_α

Putting these values, we have

$$\bar{y}_\alpha = \bar{Y} \left\{ 1 + e_0 - g\alpha\lambda e_1 + \frac{g(g+1)}{2} \alpha^2 \lambda^2 e_1^2 - g\alpha\lambda e_1 e_0 + \dots \right\} \quad \text{where } \lambda = \frac{a\bar{X}}{a\bar{X} + b} \quad (2)$$

Taking expectation of (2), we have

$$E(\bar{y}_\alpha) = \bar{Y} E \left\{ 1 + e_0 - g\alpha\lambda e_1 + \frac{g(g+1)}{2} \alpha^2 \lambda^2 e_1^2 - g\alpha\lambda e_1 e_0 + \dots \right\} \quad (3)$$

And the bias of the estimator is given by

$$B(\bar{y}_\alpha) = \frac{f}{n} \bar{Y} \left[\frac{g(g+1)}{2} \alpha^2 \lambda^2 C_x^2 - 2\alpha\lambda g \rho C_x C_y \right] \quad (4)$$

And its mean square error is given by

$$MSE(\bar{y}_\alpha) = E(\bar{y}_\alpha - \bar{Y})^2 = \bar{Y}^2 \frac{f}{n} \left[C_y^2 + \alpha\lambda g C_x^2 - 2\alpha\lambda g \rho C_x C_y \right] \quad (5)$$

The minimum MSE of the class of estimators is obtained by minimizing with respect

to α we get the optimum value $\alpha = \frac{K}{\lambda g} = \alpha_{opt}$ where $K = \rho \frac{C_y}{C_x}$

$$MSE_{\min}(\bar{y}_{\alpha^*}) = \bar{Y}^2 \frac{f}{n} (1 - \rho^2) C_y^2 \tag{6}$$

The $MSE_{\min}(\bar{y}_{\alpha^*})$ is same as that of the approximate variance of the usual linear regression estimator.

2. THE PROPOSED JACK-KNIFE ESTIMATOR \bar{y}_{α_j}

Let a simple random sample of size $n=2m$ is drawn without replacement from the population of size N . This sample of size $n=2m$ is then split up at random in to two sub samples each of size m

$$\bar{y}_{\alpha} = \bar{y} \left[\frac{a\bar{X} + b}{\alpha(a\bar{x} + b) + (1-\alpha)(a\bar{X} + b)} \right]^g \tag{7}$$

$$\bar{y}_{\alpha_i} = \bar{y} \left[\frac{a\bar{X} + b}{\alpha(a\bar{x}_i + b) + (1-\alpha)(a\bar{X} + b)} \right]^g, i=1, 2 \tag{8}$$

Let us define

$$\bar{y}_{\alpha_j} = \frac{\bar{y}_{\alpha} - R\bar{y}'_{\alpha}}{1-R} \text{ where } \bar{y}'_{\alpha} = \frac{\bar{y}_{\alpha_1} + \bar{y}_{\alpha_2}}{2} \text{ and } R = \frac{B(\bar{y}_{\alpha})}{B(\bar{y}'_{\alpha})}$$

By analogy to (4), we have

$$B(\bar{y}_{\alpha}) = \frac{f}{n} \bar{Y} \left[\frac{g(g+1)}{2} \alpha^2 \lambda^2 C_x^2 - 2\alpha \lambda g \rho C_x C_y \right] = B_1(\text{say}) \tag{9}$$

Similarly, it can be shown that

$$B(\bar{y}_{\alpha_i}) = \frac{f}{m} \bar{Y} \left[\frac{g(g+1)}{2} \alpha^2 \lambda^2 C_x^2 - 2\alpha \lambda g \rho C_x C_y \right], i=1, 2$$

$$\text{Thus, } B(\bar{y}'_{\alpha}) = \frac{f}{m} \bar{Y} \left[\frac{g(g+1)}{2} \alpha^2 \lambda^2 C_x^2 - 2\alpha \lambda g \rho C_x C_y \right] \tag{10}$$

Now, taking expectation of \bar{y}_{α_j} , we have $E(\bar{y}_{\alpha_j}) = \frac{E(\bar{y}_{\alpha}) - RE(\bar{y}'_{\alpha})}{1-R} = \bar{Y}$

thereby showing that \bar{y}_{α_j} is an unbiased estimator of population mean \bar{Y} .

2.1 Mean square error of \bar{y}_{α_j}

$$MSE(\bar{y}_{\alpha_j}) = E(\bar{y}_{\alpha_j} - \bar{Y}) = E \left\{ \frac{\bar{y}_{\alpha} - R\bar{y}'_{\alpha}}{1-R} - \bar{Y} \right\}^2 = \frac{E(\bar{y}_{\alpha} - \bar{Y})^2 + R^2 E(\bar{y}'_{\alpha} - \bar{Y})^2 - 2R(\bar{y}_{\alpha} - \bar{Y})(\bar{y}'_{\alpha} - \bar{Y})}{(1-R)^2} \tag{11}$$

$$MSE(\bar{y}_\alpha) = E(\bar{y}_\alpha - \bar{Y})^2 = \bar{Y}^2 \frac{f}{n} [C_y^2 + \alpha\lambda g C_x^2 - 2\alpha\lambda\rho g C_x C_y] \quad (12)$$

$$\begin{aligned} E(\bar{y}'_\alpha - \bar{Y})^2 &= E\left[\frac{\bar{y}_{\alpha_1} + \bar{y}_{\alpha_2}}{2} - \bar{Y}\right]^2 = E\left[\frac{(\bar{y}_{\alpha_1} - \bar{Y}) + (\bar{y}_{\alpha_2} - \bar{Y})}{2}\right]^2 \\ &= \frac{1}{4} \{E(\bar{y}_{\alpha_1} - \bar{Y})^2 + E(\bar{y}_{\alpha_2} - \bar{Y})^2 + 2E(\bar{y}_{\alpha_1} - \bar{Y})(\bar{y}_{\alpha_2} - \bar{Y})\} \\ E(\bar{y}_{\alpha_i} - \bar{Y})^2 &= \bar{Y}^2 \frac{f_m}{m} [C_y^2 + \alpha\lambda g C_x^2 - 2\alpha\lambda\rho g C_x C_y] \quad ; i=1,2 \end{aligned} \quad (13)$$

$$\begin{aligned} E(\bar{y}_{\alpha_1} - \bar{Y})(\bar{y}_{\alpha_2} - \bar{Y}) &= \bar{Y}^2 (e_0^{(1)} - \alpha\lambda g e_1^{(1)})(e_0^{(2)} - \alpha\lambda g e_1^{(2)}) \\ &= \bar{Y}^2 E(e_0^{(1)} e_0^{(2)} - \alpha\lambda g (e_0^{(1)} e_1^{(2)} + e_1^{(1)} e_0^{(2)}) + \alpha^2 \lambda^2 g^2 e_1^{(1)} e_1^{(2)}) \\ &= -\frac{\bar{Y}^2}{N} [C_y^2 + \alpha\lambda g C_x^2 - 2\alpha\lambda\rho g C_x C_y] \end{aligned} \quad (14)$$

Putting these values, we have

$$\begin{aligned} E(\bar{y}'_\alpha - \bar{Y})^2 &= \frac{1}{4} \left\{ 2 \left(\frac{N-m}{mN} \right) - \frac{2}{N} \right\} \bar{Y}^2 [C_y^2 + \alpha\lambda g C_x^2 - 2\alpha\lambda\rho g C_x C_y] \\ &= \bar{Y}^2 \frac{f_n}{n} [C_y^2 + \alpha\lambda g C_x^2 - 2\alpha\lambda\rho g C_x C_y] \end{aligned} \quad (15)$$

$$\begin{aligned} E(\bar{y}'_\alpha - \bar{Y})(\bar{y}_\alpha - \bar{Y}) &= \left(\frac{\bar{y}_{\alpha_1} + \bar{y}_{\alpha_2}}{2} - \bar{Y} \right) (\bar{y}_\alpha - \bar{Y}) \\ &= \frac{1}{2} \{E(\bar{y}_{\alpha_1} - \bar{Y})(\bar{y}_\alpha - \bar{Y}) + E(\bar{y}_{\alpha_2} - \bar{Y})(\bar{y}_\alpha - \bar{Y})\} \\ E(\bar{y}_{\alpha_i} - \bar{Y})(\bar{y}_\alpha - \bar{Y}) &= \bar{Y}^2 (e_0^{(i)} - \alpha\lambda g e_1^{(i)})(e_0 - \alpha\lambda g e_1) \\ &= \bar{Y}^2 E \{e_0 e_0^{(i)} - \alpha\lambda g (e_0 e_1^{(i)} + e_1 e_0^{(i)}) + \alpha^2 \lambda^2 g^2 e_1 e_1^{(i)}\} \\ E(\bar{y}_{\alpha_i} - \bar{Y})(\bar{y}_\alpha - \bar{Y}) &= \bar{Y}^2 \frac{f_n}{n} [C_y^2 + \alpha\lambda g C_x^2 - 2\alpha\lambda\rho g C_x C_y] \quad ; i=1,2 \end{aligned} \quad (16)$$

Putting all the results in (11), we get

$$MSE(\bar{y}_{\alpha j}) = \bar{Y}^2 \frac{f_n}{n} [C_y^2 + \alpha\lambda g C_x^2 - 2\alpha\lambda\rho g C_x C_y] \text{ which is same as the MSE of } \bar{y}_\alpha.$$

3. COMPARISON OF THE ESTIMATORS

We consider the following known estimators belonging to the considered family of estimators

1. For $\alpha = 0, a = 0, b = 0$ and $g = 0$ in the proposed class of estimators SRS mean \bar{y} .
2. The ratio estimator for $\alpha = 1, a = 1, b = 0$ and $g = 1$

$$\bar{Y}_R = \bar{y} \frac{\bar{X}}{x}$$

3. Product estimator for $\alpha = 1, a = 1, b = 0$ and $g = -1$

$$\bar{Y}_P = \bar{y} \frac{\bar{x}}{X}$$

4. Sisodia and dwivedi (1981) estimator for $\alpha = 1, a = 1, b = C_x$ and $g = 1$,

$$y_{sd} = \bar{y} \left(\frac{\bar{X} + C_x}{\bar{x} + C_x} \right)$$

5. Pandey and Dubey (1988) estimator for $\alpha = 1, a = 1, b = C_x$ and $g = -1$

$$y_{pd} = \bar{y} \left(\frac{\bar{x} + C_x}{\bar{X} + C_x} \right)$$

6. Upadhyaya and Singh (1999) estimator for $\alpha = 1, a = \beta_2(x), b = C_x$ and $g = -1$

$$y_{us1} = \bar{y} \left(\frac{\beta_2(x)\bar{x} + C_x}{\beta_2(x)\bar{X} + C_x} \right)$$

7. Upadhyaya and Singh (1999) estimator for $\alpha = 1, a = C_x, b = \beta_2(x)$ and $g = -1$

$$y_{us2} = \bar{y} \left(\frac{C_x\bar{x} + \beta_2(x)}{C_x\bar{X} + \beta_2(x)} \right)$$

8. G.N.singh(2003) estimator for $\alpha = 1, a = 1, b = \sigma_x$ and $g = -1$

$$y_{GM1} = \bar{y} \left(\frac{\bar{x} + \sigma_x}{\bar{X} + \sigma_x} \right)$$

9. G.N.singh (2003) estimator for $\alpha = 1, a = \beta_1(x), b = \sigma_x$ and $g = -1$

$$y_{GN2} = \bar{y} \left(\frac{\beta_1(x)\bar{x} + \sigma_x}{\beta_1(x)\bar{X} + \sigma_x} \right)$$

10. G.N.singh (2003) estimator for $\alpha = 1, a = \beta_2(x), b = \sigma_x$ and $g = -1$

$$y_{GN3} = \bar{y} \left(\frac{\beta_2(x)\bar{x} + \sigma_x}{\beta_2(x)\bar{X} + \sigma_x} \right)$$

11. Singh, Tailor (2003) estimator for $\alpha = 1, a = 1, b = \rho$ and $g = 1$

$$y_{TL1} = \bar{y} \left(\frac{\bar{X} + \rho}{\bar{x} + \rho} \right)$$

12. Singh, Tailor (2003) estimator for $\alpha = 1, a = 1, b = \rho$ and $g = -1$

$$y_{TL2} = \bar{y} \left(\frac{\bar{x} + \rho}{\bar{X} + \rho} \right)$$

13. Singh, et.al.(2004) estimator for $\alpha = 1, a = 1, b = \beta_2(x)$ and $g = 1$

$$y_{sin gh1} = \bar{y} \left(\frac{\bar{X} + \beta_2(x)}{\bar{x} + \beta_2(x)} \right)$$

14. Singh, et.al. (2004) estimator for $\alpha = 1, a = 1, b = \beta_2(x)$ and $g = -1$

$$y_{sin gh2} = \bar{y} \left(\frac{\bar{x} + \beta_2(x)}{\bar{X} + \beta_2(x)} \right)$$

The MSE of the above estimators up to the first order of approximation is given by

$$\text{Var}(\bar{y}) = \frac{f}{n} C_y^2, \text{MSE}(\bar{y}_R) = \frac{f}{n} \bar{Y}^2 (C_y^2 + C_x^2 - 2\rho C_x C_y)$$

$$\begin{aligned}
MSE(\bar{y}_p) &= \frac{f}{n} \bar{Y}^2 (C_y^2 + C_x^2 + 2\rho C_x C_y), & MSE(\bar{y}_{sd}) &= \frac{f}{n} \bar{Y}^2 (C_y^2 + \theta_1^2 C_x^2 - 2\theta_1 \rho C_x C_y) \\
MSE(\bar{y}_{pd}) &= \frac{f}{n} \bar{Y}^2 (C_y^2 + \theta_1^2 C_x^2 + 2\theta_1 \rho C_x C_y), & MSE(\bar{y}_{us1}) &= \frac{f}{n} \bar{Y}^2 (C_y^2 + \theta_2^2 C_x^2 + 2\theta_2 \rho C_x C_y) \\
MSE(\bar{y}_{us2}) &= \frac{f}{n} \bar{Y}^2 (C_y^2 + \theta_3^2 C_x^2 + 2\theta_3 \rho C_x C_y), & MSE(\bar{y}_{GN1}) &= \frac{f}{n} \bar{Y}^2 (C_y^2 + \theta_4^2 C_x^2 + 2\theta_4 \rho C_x C_y) \\
MSE(\bar{y}_{GN2}) &= \frac{f}{n} \bar{Y}^2 (C_y^2 + \theta_5^2 C_x^2 + 2\theta_5 \rho C_x C_y), & MSE(\bar{y}_{GN3}) &= \frac{f}{n} \bar{Y}^2 (C_y^2 + \theta_6^2 C_x^2 + 2\theta_6 \rho C_x C_y) \\
MSE(\bar{y}_{TL1}) &= \frac{f}{n} \bar{Y}^2 (C_y^2 + \theta_7^2 C_x^2 - 2\theta_7 \rho C_x C_y), & MSE(\bar{y}_{TL2}) &= \frac{f}{n} \bar{Y}^2 (C_y^2 + \theta_7^2 C_x^2 + 2\theta_7 \rho C_x C_y) \\
MSE(\bar{y}_{sin\ gh1}) &= \frac{f}{n} \bar{Y}^2 (C_y^2 + \theta_8^2 C_x^2 - 2\theta_8 \rho C_x C_y), \\
MSE(\bar{y}_{sin\ gh2}) &= \frac{f}{n} \bar{Y}^2 (C_y^2 + \theta_8^2 C_x^2 + 2\theta_8 \rho C_x C_y)
\end{aligned}$$

where

$$\begin{aligned}
\theta_1 &= \frac{\bar{X}}{\bar{X} + C_x}, & \theta_2 &= \frac{\beta_2(x)\bar{X}}{\beta_2(x) + C_x}, & \theta_3 &= \frac{C_x \bar{X}}{C_x \bar{X} + C_x}, & \theta_4 &= \frac{\bar{X}}{\bar{X} + C_x} \\
\theta_5 &= \frac{\beta_1(x)\bar{X}}{\beta_1(x) + \sigma_x}, & \theta_6 &= \frac{\beta_2(x)\bar{X}}{\beta_2(x)\bar{X} + \sigma_x}, & \theta_7 &= \frac{\bar{X}}{\bar{X} + \rho}, & \theta_8 &= \frac{\bar{X}}{\bar{X} + \beta_2(x)}
\end{aligned}$$

On comparing the efficiency of the proposed jack-knife estimator with above mentioned estimators, we have

$$\begin{aligned}
MSE(\bar{y}_R) - MSE(\bar{y}_{\alpha_j}) &> 0, & MSE(\bar{y}_p) - MSE(\bar{y}_{\alpha_j}) &> 0, & MSE(\bar{y}_{sd}) - MSE(\bar{y}_{\alpha_j}) &> 0 \\
MSE(\bar{y}_{pd}) - MSE(\bar{y}_{\alpha_j}) &> 0, & MSE(\bar{y}_{us1}) - MSE(\bar{y}_{\alpha_j}) &> 0, & MSE(\bar{y}_{us2}) - MSE(\bar{y}_{\alpha_j}) &> 0 \\
MSE(\bar{y}_{GN1}) - MSE(\bar{y}_{\alpha_j}) &> 0, & MSE(\bar{y}_{GN2}) - MSE(\bar{y}_{\alpha_j}) &> 0, & MSE(\bar{y}_{GN3}) - MSE(\bar{y}_{\alpha_j}) &> 0 \\
MSE(\bar{y}_{TL1}) - MSE(\bar{y}_{\alpha_j}) &> 0, & MSE(\bar{y}_{TL2}) - MSE(\bar{y}_{\alpha_j}) &> 0, & MSE(\bar{y}_{sin\ gh1}) - MSE(\bar{y}_{\alpha_j}) &> 0 \\
MSE(\bar{y}_{sin\ gh2}) - MSE(\bar{y}_{\alpha_j}) &> 0
\end{aligned}$$

Thus, the proposed jack-knife estimators \bar{y}_{α_j} is unbiased and has got lesser mean square error as compared with the above estimators.

4. NUMERICAL ILLUSTRATION

We consider the data used by Pandey and Dubey(1988) to demonstrate what we have discussed in the above sections.

The following values were obtained using the whole data set:

$$N=20, n=8 \bar{Y}=19.55, \bar{X}=18.8, C_x^2=0.1555, C_y^2=0.1262$$

$$\rho_{xy} = -0.9199, \beta_2(x) = 3.0613, \beta_1(x) = 0.5473, \theta_4 = 0.7172$$

Using the above results we calculated the percent relative efficiency (PRE) of different estimators in Table1,

Table1: PRE of estimators under study based on population data

Estimator	PRE
\bar{y}	100
\bar{y}_R	23.39
\bar{y}_P	526.45
\bar{y}_{sd}	23.91
\bar{y}_{pd}	550.05
\bar{y}_{us1}	534.49
\bar{y}_{us2}	582.17
\bar{y}_{GN1}	591.37
\bar{y}_{GN2}	436.19
\bar{y}_{GN3}	633.64
\bar{y}_{TL1}	22.17
\bar{y}_{TL2}	465.25
$\bar{y}_{sin\ gh1}$	27.21
$\bar{y}_{sin\ gh2}$	644.17
\bar{y}_{kosh}	650.26
$\bar{y}_{\alpha j}$	650.26

CONCLUSION

It may be easily observed from the preceding sections, we observe that the proposed jack-knife estimator is preferable over all the considered estimators as it is unbiased and efficient.

REFERENCES

- [1] Bhushan, S. (2013). Improved Sampling Strategies in Finite Population. Scholars Press, Germany.
- [2] Bhushan S. (2012). Some Efficient Sampling Strategies based on Ratio Type Estimator, *Electronic Journal of Applied Statistical Analysis*, 5(1), 74 – 88.
- [3] Bhushan S., Gupta R. and Pandey S. K. (2015). Some log-type classes of estimators using auxiliary information, *International Journal of Agricultural and Statistical Sciences*, 11(2), 487 – 491.
- [4] Bhushan S. and Katara, S. (2010). On Classes of Unbiased Sampling Strategies, *Journal of Reliability and Statistical Studies*, 3(2), 93-101.

- [5] Bhushan, S. and Kumar S. (2016). Recent advances in Applied Statistics and its applications. LAP Publishing.
- [6] Bhushan S., Pandey A. and Singh R.K. (2009) "Improved Classes of Regression Type Estimators"; International Journal of Agricultural and Statistical Sciences (ISSN: 0973 – 1903), 5(1), 73 – 84.
- [7] Bhushan S. and Pandey A. (2010). Modified Sampling Strategies using Correlation Coefficient for Estimating Population Mean, Journal of Statistical Research of Iran, 7(2), 121- 131.
- [8] Bhushan S., Singh, R. K. and Katara, S. (2009). Improved Estimation under Midzuno – Lahiri – Sen-type Sampling Scheme, Journal of Reliability and Statistical Studies, 2(2), 59 – 66.
- [9] Bhushan S., Masaldan R. N. and Gupta P. K. (2011). Improved Sampling Strategies based on Modified Ratio Estimator, International Journal of Agricultural and Statistical Sciences, 7(1), 63-75.
- [10] M. Khoshnevisan, Rajesh Singh, Pankaj Chauhan, Nirmala Sawan and Florentin Smarandache(2007) A General Family Of Estimators For Estimating Population Mean Using Known Value Of Some Population Parameter(S), Far East Journal of Theoretical Statistics, Volume 22(2), 181 – 191.
- [11] Pandey, B.N. and Dubey, Vyas (1988): Modified product estimator using coefficient of variation of auxiliary variate, Assam Statistical Rev., 2(2), 64-66.
- [12] Reddy, V.N. (1973): On ratio and product methods of estimation. Sankhya, B, 35(3), 307-316.
- [13] Singh, G.N. (2003): On the improvement of product method of estimation in sample surveys. Jour. Ind. Soc. Agri. Statistics, 56(3), 267-275.
- [14] Singh H.P. And Tailor, R. (2003): Use of known correlation coefficient in estimating the finite population mean. Statistics in Transition, 6,4,555-560.
- [15] Singh H.P., Tailor, R. and Kakaran, M.S. (2004): An estimator of Population mean using power transformation. J.I.S.A.S., 58(2), 223-230.
- [16] Singh, J. Pandey, B.N. and Hirano, K. (1973): On the utilization of a known coefficient of kurtosis in the estimation procedure of variance. Ann. Inst. Stat. Math., 25, 51-55.
- [17] Sisodia, B.V.S. And Dwivedi, V.K. (1981): A modified ratio estimator using coefficient of variation of auxiliary variable. Journ. Ind. Soc. Agril. Statist., 33, 2, 13-18.
- [18] Searls, D.T. (1964): The utilization of known coefficient of variation in the estimation procedure. Journal of American Statistical Association, 59, 1125-1126.

- [19] Searls, D.T. and Intarapanich, P. (1990): A note on an estimator for the variance that utilizes the kurtosis. *The American Statistician*, 44, 4, 295-296.
- [20] Sen, A.R. (1978): Estimation of the population mean when the coefficient of variation is known. *Commun. Statist., Theory – Meth. A* (7), 657-672.
- [21] Srivastava, S.K. (1967): An estimator using auxiliary information. *Calcutta Statist. Assoc. Bull.*, 16, 121-132.
- [22] Upadhyaya, L.N. and Singh, H.P. (1999): Use of transformed auxiliary variable in estimating the finite population mean. *Biometrical Journal*, 41, 5, 627-636.
- [23] Walsh, J.E. (1970): Generalization of ratio estimator for population total. *Sankhya, A*, 32, 99-106.

